ANSWER KEY

FIRST YEAR HIGHER SECONDARY MODEL EXAMINATION JUNE 2022 PART-III

SUBJECT: ECONOMICS
CODE NO: ME 635 SCORES: 80

2 ½ HOURS

Qn.	Sub	Answer Key/Value Points	Score	Total
No	Qns.			Score
		ANSWER ANY 10 QUESTIONS		T
1		a. V.K.R.V. Rao	1	1
2		C. Trained labourers	1	1
<i>3</i>		b. Globalisation	1	1
4		a. Census method	1	1
<i>5</i>		C. Arithmetic Mean	1	1
6		d. Allopathy	1	1
7		b. Degradation of land.	1	1
8		b. Commune System.	1	1
9		C. Dadabhai Naoroji	1	1
10		a. Positive Correlation	1	1
11		C. 100	1	1
12		a. V.K.R.V. Rao	1	1
		ANSWER ANY 6 QUESTIONS		
13		IBRD, IMF	1+1	2
14		Range = 108 - 95 = 13	2	2
15		Growth, equity, modernisation, Self reliance (any two)	1+1	2
16		Land reforms. Infrastructure development(any two Similar Points)	1+1	2
17	a) b)	Spatial classification chronological classification	1 1	2
18		questionnaire Should not be too lang. Questions Should be Precise and clear(any two Similar Points)	1 1	2
19	a) b)	Consumer price index (CPI) Whole Sale Price Index (WPI)	1 1	2
20		Identifying the Problem, Choice of target group, Collection of data, Organisation and Presentation of data.(any four Similar Points)	½ ×4	2
21		Reports of Census of India National Sample Survey Organisation's Reports of Employment and Unemployment Situation.	1+1	2
		ANSWER ANY 5 QUESTIONS		
22		In India, the Green revolution was that period during which, High yielding seeds (HYV) and several other modern agricultural methods were introduced and	3	3

		adopted by fram		_	_		
23		facilities, fertilize In formal sector all wages and the work hospital	1 ½	3			
		In in formal sector and regular wages	1 ½				
24		Highest responsible Allows all type Reactions can	nse rate es of questions			1 1 1	3
25	<i>a)</i>	Consumer				1	3
	b)	Seller				1	
	c)	employer				1	
<i>26</i>			Expenditure	In		1 1/2	3
		Item	in %	degree			
		ventilator	18	64.8			
		PPE kits	30	108			
		plus oximetre	12	43.2			
		gloves	10	36			
		miscellaneous	30	108			
			100	360			
			1 ½				
			PE kits plus oximetre	■ gloves	miscellaneous		
27		QD=7.5	3	3			
28		P ₀₁ =120	3	3			
	-	ANS	WER ANY	3 QUE	STIONS		
29		Regulated mark				1	
		Development of				$\begin{vmatrix} 1 \\ 1 \end{vmatrix}$	4
		Co-operative ma Policy instrume	_			$\begin{vmatrix} 1 \\ 1 \end{vmatrix}$	
30		•		s and und	ler the commune		
00		system of farmin					
		households for f	_	_	-		
		after paying the					
		2. Industrial sec				1	
		firms were enco	uraged to compe	te with g	overnment		
		enterprises. 3. Setting up of encourage expor		oreign inv	vestment and	1	4

		4. Dual p	ricing wa	as imple	mented ι	ınder wh	ich fix amount	1	
		of purcha	ses and	sale need			rest will be		
		traded at	market	price.					
31		During B						4	4
		development in areas such as railways, ports, water							
		transport							
32		CLASS	FRE	QUENC	Y				
		0-10		3					
		Oct-20		6					
		20-30		2					
		30-40		6				4	4
		40-50		3				4	4
		50-60		3					
		60-70		2					
		70-80		3					
		80-90		2					
				30					
33	A	Y		Y					
			1	1	``.				
			1		```				
	D	1			``\	L.		1+1	
	В	X O							
			(a)	^ 0	(b) Perfect neg	ativo)			
		(Perfec	t positive)	(F	eriect neg	jauve)			
	\mathbf{C}	Y		ή.	ili-c				4
		1		je:					
	D	4404		9				1+1	
				-x _L		X			
		<i>O</i> (Da	(c) sitive)	. 0	(d) (Negativ	(a)			
		(F0	silive)		(Negativ	, e ,			
			ANSV	VER A	NY 3	QUES	TIONS		
34		X	\mathbf{f}	fx	x2	fx2			
		20	8	160	400	3200			
		24	7	168	576	4032			
		30	10	300	900	9000		3	
		35	12	420	1225	14700			
		38	6	228	1444	8664			5
		40	3	120	1600	4800			
			46	1396		44396			
		GD 0.0:						1	
		SD=6.64 CV=21.88	2					1	
35		Industr		tor					
50					mechan	isms wer	re enforced in		
	1						. (ii) Private		
		Vai						•	1
				• , ,		_	stries (iii)		

	industries, and (iv) controls on price fixation and distribution of selected industrial products.		
	➤ The reform policies introduced in and after 1991 removed so many restrictions. Industrial licensing was abolished for almost all products. (except		
	 alcohol, cigarettes, hazardous chemicals etc.) The only industries which are now reserved for the public sector are a part of defence equipment, 	5	5
	 atomic energy generation and railway transport. Many goods produced by small-scale industries have now been de reserved. In many industries, the market has been allowed to 		
	determine the prices. Tax Reforms		
	 Tax reforms are concerned with the reforms in the government's taxation and public expenditure policies, which are collectively known as fiscal policy. There are two types of taxes: direct and indirect. 		
	 Direct taxes consist of taxes on incomes of individuals, as well as, profits of business enterprises. Indirect taxes are taxes levied 		
	 on commodities. The rate of corporation tax, which was very high earlier, has been gradually reduced. Recently, the Parliament passed a law, Goods and 		
	Services Tax Act 2016, to simplify and introduce a unified indirect tax system in India. This law came into effect from July 2017.		
	➤ GST expected to generate additional revenue for the government, reduce tax evasion and create 'one nation, one tax and one market'.		
36	Investment in Education The most powerful way to improve and expand the fruitful workforce in the state is by nourishing and building up the education system. It is acknowledged as the root of human capital formation, that is the reason	1	
	why the parents and also the government spend more on education. Few objectives why individual and state investment is more in education are: Investment in Health	1	
	The second major source of human capital formation is the health sector. A person who is unwell will absolutely influence productivity. Few health-related investments are: providing clean and safe drinking water, therapeutic		
	medicines, etc. Migration An individual, to get higher salaries, good jobs, migrate from their native place to another place. In India,	1	5
	unemployment is the reason for rural-urban migration. Other skilled and qualified individuals like doctors,		

	search of be In both the cost, cost of The increase of migration another sou On-the-job To increase provide on- expensive,	etter opposituation fliving in sed income. Therefore of hu Training the laboration training and comp	s, migration in the migrated es in the new ore, investmen man capital fo	nvolves traplace, etc. place except in migration. 7, many content of the content	ansportation ed the values ation is ompanies ae is as for	1	
	training. Investment Information achieved by	in Inform n associat y spending	lled supervisor nation: All the ed with educa g money. For e are prepared fo	detailed i tion and h example, d	information lealth can be lata	1	
37	problems fa 1. Translost l anote trans 2. Insufficies sector is th per cent GI	ace by pover smission by transfer her. Over smission. The transcript the ins OP growth	1.	ndia is list mount of ty from or energy is oblem fac is not su	electricity is a station to lost by led by this fficient for 7-8	1	
	Boards is the distribution more than electricity is	he major j n and wro Rs 500 bil s stolen.	llion. In additi	to transmitem, SEBs on, a huge	ission, s incurs losses e amount of	1	5
	country is a inefficient to power sector	a major pr tariff colle or.	nues power cur coblem. High p ection are anot aterials: The s	ower tari her challe	enges faced by	1	
	materials a especially, for electrici population research for meet the graphical private is n	nd coal suin thermaty is day and grower an alter cowing deced. More	upplies are and all power plants by day increas ing demand fo native source of mand. More po to use of renewa	other prob s. Howeve sing due the or goods are of energy a ublic inves able energ	olems faced by r, the demand ne growth of nd services. A is essential to estment and gy sources is	1	
	reduces the	consump	otion non-rene	wable ene	rgy.	1	
	1		.1		1		+
38	less than values 50	LCF 7	more than values	MCF 104	-		

	160 end 50	100 100 100	250 363 335 336	53 366		5
	150 200 250 300 350 400	37 50 62 81 95 104	100 150 200 250 300 350	87 67 54 42 23 9	3	
			1) I	
39 a			R ANY 2 (omic and politi			T
b	(iv) in (v) un (v) (v) The Indian justice as the objective of government reduction would be under the conomic graph of the conomic grap	Constitute the primary the development of that the country that the countr	ess stribution of in CORAMMES ATION cion and five ye commental stracernment's appreced approach-It effects of ds to rapid increase to poor section cemployment a	ear plans stategies of the roach to pover is based on the rease in grosses of society. The roach wage emportant of addressing the programme on Programme on Programme is Rozgar Yojana is Rozgar Yojana	te social erty the s domestic (Trickle ployment g poverty. es are ne (PMRY) na	8

		 Swarnajayanti Gram Swarozgar Yojana (SGSY) has now been restructuredas National Rural Livelihoods Mission (NRLM). Food for Work programme. The government has a variety of programmes to generate wage employment for the poor unskilled people living in rural areas. In August 2005, the Parliament passed a new Act to provide guaranteed wage employment to every rural household. It is known as Mahatma Gandhi National Rural Employment generation programme. (iii) To provide minimum basic amenities to the people. Expanding self employment and wage employment programmes Programmes under this approach are expected to supplement the consumption of the poor, create employment opportunities and bring about improvements in health and education. Three major programmes aim at improving the food and nutritional status of the poor are Public Distribution System, Integrated Child Development Scheme and Midday Meal Scheme. Pradhan Mantri Gram Sadak Yojana, Pradhan Mantri Gramodaya Yojana, Valmiki Ambedkar Awas Yojana are started in developing infrastructure and housing conditions. The government also has a variety of other social security programmes to help a certain specific groups. eg: National Social Assistance Programme . The government has also introduced a few schemes to provide health insurance to poor people eg: Pradhan Mantri Jan-Dhan Yojana (2014) 		
40	a)	The concept of sustainable development was emphasized by the United Nations Conference on Environment and Development (UNCED). It defines sustainable development as the development that meets the need of the present generation without compromising the ability of the future	2	
	b)	generation to meet their own needs'. It is the development that can sustain itself. It considers the protection of environment. 1. Use of Non-conventional Sources of energy: The use of non-conventional sources of energy reduces the risk of pollution. Wind mills can provide electricity without any adverse impact on the environment. Solar energy is extremely useful in remote areas. Wave energy plants can be set up in coastal		

	5	establishment of mountainous regular demands and economic demands demand	fuel in trache air postants: A evelopme f mini-hygions. The officently cowledge of the ciculture raditionali, Tibeta environme is the elopment trol: Starge are	ansportated lution. nother is redel powers plant. tradition and transl knowled in and following the ronment of the second lution and following the second lu	strategy that er plants s meet le ractice: al syster asportate dge such k syster frier ulture u h advers the strategy r, mod f pesticie	the s in ocal We m of ion. n as m of adly use of dern des.	6	8
41	marks	no.of students f	midx	fx	cf			
	Oct-20	4	15	60	4	1		
	20-30	7	25	175	11]	4 . 4	
	30-40	16	35	560	27		4+4	
	40-50	20	45	900	47			
	50-60	15	55	825	62	<u> </u>		
		8	65	520	70			
	60-70	70	00	3040	70			8